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C A J D 0129 F03  Date : 03rd October 2022
M/s INTERNATIONAL TRACTORS LTD. ANNEXURE - II DI-47 HDM +

Rule No. Sub Rule(s) Compliance Verified For Standard
93 (1)(A)(X),1(B)(iv),2(d) Motor Vehicle Width, Length and Height: -
94 (1), (2) & (3) Condition of tyres -

95-A (1) & (2)

 Size & ply rating of tyres for agricultural tractors Make

IS:13154-1991Front

6.50-16, 8 PR,7.50-16, 8PR,
6.00-16, 8PR & 6.50-20, 8PR 2WD

GOODYEAR /
MRF /

APOLLO / JK
/ CEAT/ BKT

8.00-18,6PR, 8.3-20,6PR,
8.3-24, 6PR,9.50-20, 6PR &9.50-

24, 8 PR
4WD

Rear 14.9 - 28, 12 PR &
13.6 - 28, 12 PR

2WD/
4WD

96 (1), (2), (7)(d), & (8) Brakes -

96-C - Brakes for agricultural tractor IS:12061-1994 & IS:12207-2014
98-B (1), (2) & (3) Steering Gears for agricultural tractors IS:11859-2004 & AIS:042-2004
99 - Forward and backward motion -

101 (1) & (2) Windscreen Wiper NA
102 (1) & (2) Signaling devices, direction indicators and stop lights -
103 (1) & (2) Position of the indicator -

104-B (1) & (2) Fitment of reflectors for agricultural tractors AIS-057 (Rev. 1): 2010
105 (1)(a), (2), (3), (4) & (7) Lamps -
106 (1) Deflection of lights -
108 - Use of red or white lights -
109 - Parking light -
111 - Prohibition of spotlights etc. -

114 (1) Exhaust gases and exhaust pipes IS 12239 (Part 1):1996

115 A (2), (3) & (7) Emission of smoke, vapour, etc. from Agricultural Tractor -
117 (1) Speedometer -
119 (1) & (2) Horns IS 1884:1992

120 (1) & (3) Silencers

Bystander Noise

AIS:115 (Part 1& Part 2) - 2009

Limit (dB (A)) : Measured (dB (A)) :
88 84/ 83/85/86

Driver Perceived Noise Level
Limit (dB (A)) : Measured (dB (A)) :

92 90/92/91

ICAT Ref No. 2022 - 1043 ; (IOCS NO. 160611)
Emission Report No. CORE 0799 Dt.20.07.2022
Noise Report No. CT0VO 0464 Dt. 17.04.2019 & CT1VQ 0197 Dt. 15.02.2021
AUTHORISED SIGNATORY
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